
2771-03-ENTAB

SCALE 1" = 1'-0"

2771-03-ENTAB

SCALE 1" = 1'-0"

2771-03-ENTAB

SCALE 1" = 1'-0"

2771-03-ENTAB

SCALE 1" = 1'-0"

2771-03-ENTAB SIDE CAP

SCALE 1" = 1'-0"

2771-03-ENTAB TOP CAP

SCALE 1" = 1'-0"

2771-03-ENTB-08

SCALE 1" = 1'-0"

2771-03-ENTAB

SCALE 1" = 1'-0"

BILL OF MATERIALS

MACHINEMATERIALDESCRIPTION

ITEM

QTY

PART NUMBERITEM

ANOkoume Marine Plywood3/4" THICK-MITER12771-03-ENTB-088

ANOkoume Marine Plywood3/4" THICK12771-03-ENTB-1211

 Aluminum 6061.125" THICK12771-03-ENTB-18A17

 Aluminum 6061.125" THICK12771-03-ENTB-18B18

ANOkoume Marine Plywood3/4" THICK12771-03-ENTB-1919

ANOkoume Marine Plywood3/4" THICK12771-03-ENTB-2020

ANOkoume Marine Plywood3/4" THICK12771-03-ENTB-2121

AN/FRPolystyrene, Expanded 12771-03-ENTB-228

AN/FRPolystyrene, ExpandedMITER 12771-03-ENTB-239

AN/FRPolystyrene, ExpandedMITER 12771-03-ENTB-2410

AN/FRPolystyrene, Expanded 12771-03-ENTB-2511

AN/FRPolystyrene, Expanded 12771-03-ENTB-2612

AN/FRPolystyrene, ExpandedMITER 12771-03-ENTB-2713

AN/FRPolystyrene, Expanded 12771-03-ENTB-2814

AN/FRPolystyrene, ExpandedMITER 12771-03-ENTB-2915

AN/FRPolystyrene, Expanded 12771-03-ENTB-3016

AN/FRPolystyrene, Expanded 12771-03-ENTB-3117

AN/FRPolystyrene, Expanded 12771-03-ENTB-3218

AN/FRPolystyrene, Expanded 12771-03-ENTB-3319

AN/FRPolystyrene, Expanded 12771-03-ENTB-3420

AN/FRPolystyrene, Expanded 12771-03-ENTB-3521

AN/FRPolystyrene, Expanded 12771-03-ENTB-36A22

AN/FRPolystyrene, Expanded 12771-03-ENTB-36B23

AN/FRPolystyrene, Expanded 12771-03-ENTB-36C24

AN/FRPolystyrene, Expanded 12771-03-ENTB-3725

AN/FRPolystyrene, Expanded 12771-03-ENTB-38A26

AN/FRPolystyrene, Expanded 12771-03-ENTB-38B27

AN/FRPolystyrene, Expanded 12771-03-ENTB-38C28

AN/FRPolystyrene, Expanded 12771-03-ENTB-3929

AN/FRPolystyrene, Expanded 12771-03-ENTB-4030

AN/FRPolystyrene, Expanded 12771-03-ENTB-4131

AN/FRPolystyrene, Expanded 12771-03-ENTB-4232

AN/FRPolystyrene, ExpandedSEE TEMPLATE12771-03-ENTB-4333

AN/FRPolystyrene, Expanded 12771-03-ENTB-4434

AN/FRPolystyrene, Expanded 12771-03-ENTB-4535

AN/FRPolystyrene, Expanded 12771-03-ENTB-4636

AN/FRPolystyrene, Expanded 12771-03-ENTB-4737

AN/FRPolystyrene, ExpandedADD PREMADE STUDDED 

MOLDING DETAIL

42771-03-ENTB-4838

AN/FRPolystyrene, ExpandedPULL FROM STOCK QTY12771-03-ENTB-48B-CTF39

DESIGNER DRAWING #

FILE NAME:

DRAWING #

REVISIONS

CONST. SCHEDULE

SHIP DATE:

CONST FINISH:

ON FLOOR:

TO PAINT:

JO
B

 N
O

.:
PR

IN
TE

D
 O

N
:

S
C

A
LE

:
D

R
A

W
N

 B
Y:

PR
O

JE
C

T
M

AN
AG

ER
:

D
ES

IG
N

:

C
LI

E
N

T:

LE
AD

 
C

AR
PE

N
TE

R
:

TH
ES

E 
D

R
AW

IN
G

S
 &

 T
H

E 
ID

EA
S

R
EP

R
E

SE
N

TE
D

 A
R

E 
TH

E
PR

O
PE

R
TY

 O
F

S
H

O
W

M
A

N
 F

AB
R

IC
AT

O
R

S
 IN

C
.

 
©

C
O

PY
R

IG
H

T 
20

17
 B

Y 
S

FI

AP
PR

O
VE

D
1
4
8
 
E

A
S

T
 
5
T

H
 
S

T
R

E
E

T

B
A

Y
O

N
N

E
,
 
N

J
 
0
7
0
0
2

[
T

]
 
7
1
8
.
9
3
5
.
9
8
9
9

w
w

w
.
s
h
o
w

f
a
b
.
c
o
m

7/
22

/2
01

9

2771-03-ENTAB.dwg

N
C

L 
E

N
C

O
R

E

27
71

cn
ic

kl
e

N
C

L
P

O
LE

S
H

U
C

K
 D

E
S

IG
N

 
IN

C
D

 S
H

A
Y

D
 M

A
R

C
U

S

27
71

-0
3-

E
N

TA
B

C
O

N
S

TR
U

C
TI

O
N

1"
=

1'
-0

"

3.ENTB.1

 
 
 
 

39

38

32

31

13

29

28

27

26

1925

24

23

22

20

12

21

37

36

35

14

14

15

34

17

16

18

11

10

9

8

21

8

33

20

19

11

17

18

PLY NESTS INTO EPS NOTCH-SEE 3.ENTB.4

PLY SHEETS LAMINATED TOGETHER

FLUSH BOLTS TO INSIDE FACE OF 

2771-03-ENTB-12

PLY NESTS INTO EPS NOTCH-SEE 3.ENTB.4

PLY SHEETS LAMINATED TOGETHER

BASES CUT @ CNC, RESAW KNUBBED BLOCKS TO FIT

NOTES:

 

BUILD ONE AS ILLUSTRATED

FOAM MOLDING TO BE CTF AND MITERED ON SHOP FLOOR AS NEEDED

6

2

°

2
'
-
1
0
 
1
/
8
"

1'-3 3/4"

2'-7 1/2"



2771-03-ENTAB

SCALE 1" = 1'-0"

2771-03-ENTAB

SCALE 1" = 1'-0"

2771-03-ENTAB

SCALE 1" = 1'-0"

2771-03-ENTAB

SCALE 1" = 1'-0"

2771-03-ENTB-17

SCALE 1" = 1'-0"

2771-03-ENTB-18A

SCALE 1" = 1'-0"

2771-03-ENTB-18B

SCALE 1" = 1'-0"

2771-03-ENTAB

SCALE 1" = 1'-0"

SECTION C-C

SCALE 1" = 1'-0"

SECTION D-D

SCALE 1" = 1'-0"

2771-03-ENTAB

SCALE 1" = 1'-0"

SECTION G-G

SCALE 1" = 1'-0"

BILL OF MATERIALS

MACHINEMATERIALDESCRIPTION

ITEM

QTY

PART NUMBERITEM

ANOkoume Marine Plywood3/4" THICK12771-03-ENTB-011

N/AOkoume Marine Plywood3/4" THICK12771-03-ENTB-022

ANOkoume Marine Plywood3/4" THICK12771-03-ENTB-033

ANOkoume Marine Plywood3/4" THICK12771-03-ENTB-044

ANOkoume Marine Plywood3/4" THICK12771-03-ENTB-055

ANOkoume Marine Plywood3/4" THICK32771-03-ENTB-066

ANOkoume Marine PlywoodMITER12771-03-ENTB-077

ANOkoume Marine Plywood3/4" THICK-MITER12771-03-ENTB-088

N/AOkoume Marine Plywood3/4" THICK12771-03-ENTB-109

N/AOkoume Marine Plywood3/4" THICK12771-03-ENTB-1110

ANOkoume Marine Plywood3/4" THICK12771-03-ENTB-1211

N/AOkoume Marine Plywood1/4" THICK-CTF12771-03-ENTB-1312

N/AOkoume Marine Plywood3/4" THICK12771-03-ENTB-1413

N/AOkoume Marine Plywood3/4" THICK12771-03-ENTB-1514

N/AOkoume Marine Plywood3/4" THICK12771-03-ENTB-1615

 Aluminum 50520.09" THICK12771-03-ENTB-1716

 Aluminum 6061.125" THICK12771-03-ENTB-18A17

 Aluminum 6061.125" THICK12771-03-ENTB-18B18

ANOkoume Marine Plywood3/4" THICK12771-03-ENTB-1919

ANOkoume Marine Plywood3/4" THICK12771-03-ENTB-2020

ANOkoume Marine Plywood3/4" THICK12771-03-ENTB-2121

N/AOkoume Marine Plywood3/4" THICK-CTF12771-03-ENTB-NAILING

 BLOCKS

22

TLAluminum 60616X6X1/4" SQ TUBE12771-03-ENTB-POST A23

TLAluminum 60616X6X1/4" SQ TUBE12771-03-ENTB-POST B24

  STAINLESS STEEL1DRING+KEEPER25

C
C

D
D

G

G

DESIGNER DRAWING #

FILE NAME:

DRAWING #

REVISIONS

CONST. SCHEDULE

SHIP DATE:

CONST FINISH:

ON FLOOR:

TO PAINT:

JO
B

 N
O

.:
PR

IN
TE

D
 O

N
:

S
C

A
LE

:
D

R
A

W
N

 B
Y:

PR
O

JE
C

T
M

AN
AG

ER
:

D
ES

IG
N

:

C
LI

E
N

T:

LE
AD

 
C

AR
PE

N
TE

R
:

TH
ES

E 
D

R
AW

IN
G

S
 &

 T
H

E 
ID

EA
S

R
EP

R
E

SE
N

TE
D

 A
R

E 
TH

E
PR

O
PE

R
TY

 O
F

S
H

O
W

M
A

N
 F

AB
R

IC
AT

O
R

S
 IN

C
.

 
©

C
O

PY
R

IG
H

T 
20

17
 B

Y 
S

FI

AP
PR

O
VE

D
1
4
8
 
E

A
S

T
 
5
T

H
 
S

T
R

E
E

T

B
A

Y
O

N
N

E
,
 
N

J
 
0
7
0
0
2

[
T

]
 
7
1
8
.
9
3
5
.
9
8
9
9

w
w

w
.
s
h
o
w

f
a
b
.
c
o
m

7/
22

/2
01

9

2771-03-ENTAB.dwg

N
C

L 
E

N
C

O
R

E

27
71

cn
ic

kl
e

N
C

L
P

O
LE

S
H

U
C

K
 D

E
S

IG
N

 
IN

C
D

 S
H

A
Y

D
 M

A
R

C
U

S

27
71

-0
3-

E
N

TA
B

LA
TU

R
E

FR
A

M
E

 C
O

N
S

TR
U

C
TI

O
N

1"
=

1'
-0

"

3.ENTB.2

 
 
 
 

HOLES ON TOP 

FACE GET M5 RIVNUT

INNER 2 HOLES GET

M5 RIVNUT

INNER 2 HOLES GET

M5 RIVNUT

FLANGE HOLES FLUSH

BOLT TO FRAMING

1'-11 1/16"

2
'
-
1
0
 
1
/
4
"

1
'
-
6
 
7
/
1
6
"

8"

6

2

°

6

2

°

1 1/4"

1

'

-

3

 

3

/

4

"

9

 

1

/

4

"

22

7

15

13

2

14

1

16

9

10

11

17

18

12

5

4

60

3

6

1
'
-
3
 
3
/
4
"

M6 FLUSH BOLT TO FRAMING

1
'
-
3
 
3
/
4
"

8"

2

'

-

1

0

 

1

/

8

"

2
'
-
2
 
1
/
1
6
"



2771-03-ENTAB

SCALE 3/4" = 1'-0"

2771 03 FORE TEAM BASE v2

SCALE 3/4" = 1'-0"

2771-03-ENTB-POST A

SCALE 3/4" = 1'-0"

2771-03-ENTB-POST B

SCALE 3/4" = 1'-0"

DESIGNER DRAWING #

FILE NAME:

DRAWING #

REVISIONS

CONST. SCHEDULE

SHIP DATE:

CONST FINISH:

ON FLOOR:

TO PAINT:

JO
B

 N
O

.:
PR

IN
TE

D
 O

N
:

S
C

A
LE

:
D

R
A

W
N

 B
Y:

PR
O

JE
C

T
M

AN
AG

ER
:

D
ES

IG
N

:

C
LI

E
N

T:

LE
AD

 
C

AR
PE

N
TE

R
:

TH
ES

E 
D

R
AW

IN
G

S
 &

 T
H

E 
ID

EA
S

R
EP

R
E

SE
N

TE
D

 A
R

E 
TH

E
PR

O
PE

R
TY

 O
F

S
H

O
W

M
A

N
 F

AB
R

IC
AT

O
R

S
 IN

C
.

 
©

C
O

PY
R

IG
H

T 
20

17
 B

Y 
S

FI

AP
PR

O
VE

D
1
4
8
 
E

A
S

T
 
5
T

H
 
S

T
R

E
E

T

B
A

Y
O

N
N

E
,
 
N

J
 
0
7
0
0
2

[
T

]
 
7
1
8
.
9
3
5
.
9
8
9
9

w
w

w
.
s
h
o
w

f
a
b
.
c
o
m

7/
22

/2
01

9

2771-03-ENTAB.dwg

N
C

L 
E

N
C

O
R

E

27
71

cn
ic

kl
e

N
C

L
P

O
LE

S
H

U
C

K
 D

E
S

IG
N

 
IN

C
D

 S
H

A
Y

D
 M

A
R

C
U

S

27
71

-0
3-

E
N

TA
B

LA
TU

R
E

IN
S

TA
LL

A
TI

O
N

3/
4"

=
1'

-0
"

3.ENTB.3

 
 
 
 

DRING+KEEPER LIFTPONT

M5 BOLT TOP CAP TO ENTAB

M5 BOLT SIDE CAP TO ENTAB

NOTES:

 

-03-ENTABLATURE SLEEVES OVER TEAM BASE POSTS

-M6 THROUGH BOLT ENTAB TO POSTS

-M5 BOLT ENTAB CAPS TO ENTAB FRAMING


